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Q1. A cooperative society of farmers has 50 hectares of land to grow two c 2ps and Y. The

profit from crops X and Y per hectare are estimated as Rs 10,500 and R/ 9,0065??espectively. To

control weeds, a liquid herbicide must be used for crops X and<Y at.rat of20 liters and 10 liters

per hectare. Further, no more than 800 liters of herbicide shouid, gedm order to protect fish

Mo

% his‘land. How much land should be

allocated to each crop so as to maximize the total ‘profit of ‘the society? Solve the problem

and wildlife using a pond which collects drainage fro

formulating as LPP and using Graphical solution. w 5[CO2]

Q.2 An open rectangular box with square. Zé”-‘i‘s:!to be made from 48 fi* of material. What

dimensions will result in a box with;the'lafgest possible volume ? 3{co1)
Q.3 You have $12,000 to"ipve
bond fund has a 7%
has an expected (hop

‘three different funds from which to choose. The municipal
e local bank's CDs have an 8% return, and the high-risk account
or) 12% return. To minimize risk, you decide not to invest any more

than $2,000-in th "gb_»nSk account. For tax reasons, you need to invest at least three times as

much in the funi pal bonds as in the bank CDs. Assuming the year-end yields are as expected,

setup thcp blem as LPP and write initial simplex table for the same. 3 [CO2]

Q.4 (a) Explain with an example use of Modelling and Simulation in Civil Engineering.
(b) Write any 4 advantages and 4 disadvantages of application on Modelling and Simulation.
2+2 [CO1]



